AP
Precalculus

4.9 Vector-Valued Functions 4.9 Practice Solutions

Directions: For the given vector-valued functions, complete the table and sketch the graph that the endpoints
make.
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the vector-valued function.

Directions: Find the domains of each of the components of the vector-valued function, then find the domain of
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time.

Directions: Describe the motion and find the speed of a particle in motion with the following vector at the given
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4.9 Vector Valued Functions 4.9 Test Prep

12. (1.9) Given the graph of f. Which of the following describes the functioi
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12. (1.10) The figure shows the graph of a function f. Which of the following could be an expression for the
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